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General Instructions: -

® There are total 50 questions in this question paper.

® All questions are compulsory.

® Each question carries 1 mark.

® Four options are given for each question, choose the correct option.

® There is no negative marking for wrong answers.

1. G&T STa BT (e ToI dHaf 82
(A) T (B) it
(C) ST agat o (D) SuH Tt

Where is the habitat of microbe?

(A) In air (B) In water
(C) On living things (D) All of the above
2. frfaiRaa # i A1 A AosR | therdr 872
(A) Dferay (B) R
(C) & (D) Tt
Which of the following diseases is spread by mosquitoes?
(A) Polio (B) Ringworm
(C) Cholera (D) Malaria
3. JRNSNA o 0T F B Gewioiia Aed 22
(A) TSI (B) Sitaryy
(C) darer (D) BadH

Which microbe helps in the production of biodiesel?
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(A) Protozoa (B) Bacteria

(C) Algae (D) Fungi
4. 77T 5 & T IST IR B 872
(A) SrftaT (B) YT T T
(C) AP (D) $ 9 IE T
Which of the following is the largest cell?
(A) Amoeba (B) Ostrich egg
(C) Mycoplasma (D) None of the above
5. PIFAEHT o foreT TRT H TURTT IR Bl 22
(A) Tsd F (B) PIeT 5T A
(C) PifrepT Ry & (D) 9 & BIS &I
In which part of the cell is chromosome present?
(A) In the nucleus (B) In the cytoplasm
(C) In the cell wall (D) None of the above
6. oy a1 T +ifcrep aeveer geg WU H Bl 87
(A) ST (B) A&
(C) URT (D)
Which metal is in liquid state in its physical form?
(A) Zinc (B) Copper
(C) Mercury (D) Tin
7. TR R & b &1 T SUANT fhaT STl 82
(A) S (B) T
(C) e (D) s
Which metal is used for X-rays?
(A) Tin (B) Gold
(C) Copper (D) Lead
8. SRS & SIIST § fhet &1 bl TreeetT ferrT &7
(A) DRI (B) 39D
(C) I (D) 3R
Which metal is found in abundance in Jadugoda of Jharkhand?
(A) Coal (B) Mica
(C) Uranium (D) Ore
9. G BT g8 0T AT I7e YR TR 1S oIl el &-
(A) T CEEISER
(C) SITeTaae= aT: (D) g
The property of metals due to which they can be beaten into sheets is-
(A) Ductility (B) Bad conductivity
(C) Malleability (D) Flexibility
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10. ST | IHSAT I I HH 1A &1 DI T 87

(A) g (B) URT
(C) @Y (D) AT
Which of these metals is the least conductor of heat?
(A) Aluminium (B) Mercury
(C) Silver (D) Gold
11. FrfeRad o -1 91t IRl &1 pares & -
(A) i T (B) et BT UMl
(C) R=a1 (D) 3TRI Sfel
Which of the following solutions is a bad conductor of electricity —
(A) Lemon juice (B) Tap water
(C) Vinegar (D) Distilled water
12. foplt &1 UR gfew oTq o1 WRa (AU R bl Hfchar el T el &7
(A) FreI oo (B) 3iTarTepRoT
(C) SREenRuT (D) fege 3rqere
What is the process of depositing a layer of desired metal on a metal called?
(A) Electroplating (B) Oxidation
(C) Galvanization (D) Electrolysis
13, F=feiRaa 9 & o™ SR S 8iaT 82
(A) Tl (B) Hgd
(C) ¥R fhar (D) it
Which of the following has internal reproduction?
(A) Fish (B) Frog
(C) Star fish (D) Hen
14, BZST ¥ S T fafer 8-
(A) FgfaTSH (B) Pt
(C) T (D) fafoMo=
The method of reproduction in Hydra is —
(A) Multiple fission (B) Budding
(C) Fragmentation (D) Binary fission
15. T4} I T8 I FHdTs B g1 &b AT IRAUSHT SqTa-
(A) gcdr (B) e
(C) @ (D) 7 A 1S el
With the increase in height from the surface of the earth, atmospheric pressure —
(A) Decreases (B) Increases
(C) Both (D) None of these
16. 19 BT THD FIT 52
(A) UTheT (B) =g Ui & Hiex
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(C) Mt D EEREIERE

What is the unit of pressure?

(A) Pascal (B) Newton per square meter
(C) Both (D) None of these
17. F=ifohd St o -1 Jufdha aaT 2
(A) TocT def (B) eI et
(C) 2R g get (D) TYT §eT
Which of the following forces is a contact force?
(A) Gravitational force (B) Magnetic force
(C) Electrostatic force (D) Frictional force
18. fy=feiRad & o T ueref sresefier 87
(A) ABST (B) BRI
(C) uger (D) weeR
Which of the following substances is non-combustible?
(A) Wood (B) Coal
(C) Petrol (D) Stone
19. Tt yarel & S8 &1 Ui uaref 82
(A) PrET (B) STet
(C) 3ffado (D) BT HFNITATSS
The nutrient for combustion of a substance is?
(A) Carbon (B) Water
(C) Oxygen (D) Carbon monoxide

20. Tt SaTetT BT e 31feIes T 9T i AT 82

(A) & FTERT AT (B) &R 31 BT qFT
(C) &g SRT (D) T Y YT T BY A T 81T &
Which is the hottest part of a flame?
(A) The outermost part (B) The innermost part
(C) The middle part (D) All these parts are equally hot
21, FrfRae o @ I &1 URE Meterr R Rig & Y H e 8iar 872
(A) XX (B) XY
(C)YY (D) XXY
Which of the following two chromosomes combine to form a male child?
(A) XX (B) XY
©)YY (D) XXY
22. T8 AIDS a9 ey HTRIT ST 872
(A) 21 fFFeR (B) 21 ST
(C) 1 fF¥=R (D) 1 S
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When is World AIDS Day celebrated?

(A) 21 December (B) 21 June
(C) 1 December (D) 1 June
23. Rl 7 819 dTet ATRTS TG T AFT JFafer T 872
(A) 22 foF (B) 14 o1
(C) 35 faT (D) 28 f&
What is the normal duration of menstrual cycle in women?
(A) 22 days (B) 14 days
(C) 35 days (D) 28 days
24, FFCIeT SUUT 3 T i BT § —
(A) T (B) IRl
(C) g (D) P el
The image formed by a plane mirror is —
(A) Virtual (B) Real
(C) Blurred (D) None
25. 98 T ST GIE Q@1 W 8T &+ dTel a3l T T g FepelT 2-
(A) IRz (B) frereray
(C) fararqur (D) S
The instrument which can show objects which are not on the line of sight is —
(A) Periscope (B) Kaleidoscope
(C) Dispersion (D) Telescope
26. 3G H YT = ATei Hep1eT fehvll bl i AT el 87
(A) geieft (B) MR
(C) pifr (D) }feT
Who controls the light rays entering the eye?
(A) Pupil (B) Iris
(C) Cornea (D) Retina
27. quf g H 1S ST aTell Qg TaceR 3 kiR Tep thRieT &l e dTel! el PHeetll! &-
(A) & (B) W%
(C) Seted (D) firete=
Crops sown in rainy season and harvested from October to December are called-
(A) Rabi (B) Kharif
(C) Pulses (D) Oilseeds
28. T} BT ISERT B-
(A) =T (B) =T
(C) RrerareT (D) 3TFT%S BT Uter
An example of autotroph is-
(A) Cow (B) Goat
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(C) Cockroach (D) Guava plant
29. BIRCR A GRT BT Y - DT I & —

(A) JaTg (B) HUSRUT
(C) FeT (D) g
The harvesting of crops is done by harvester machine —
(A) Ploughing (B) Storage
(C) Harvesting (D) Transportation
30. IS &R 4 A H Alg, AR, T8, SUE AT el [oxdTs IaT?
(A) 378 PIS QT & Tel &

(B) TS <r&RT H Tyt Aol o fer Iy &
(C) &, &U & *R 3R H el @Y AT &
(D) T & DI< Tt
Why are the moon, stars, planets, satellites not visible at night in big cities?
(A) Nobody sees them
(B) They hide in the electric decorations in big cities

(C) They get lost in the sky filled with dust and smoke
(D) None of these
31. R R BT IE BI &7
(A) T (B) Ih
(C) of¥ (D) 375 | DIS &
Which is the farthest planet?
(A) Neptune (B) Venus
(C) Saturn (D) None, of these
32. Tl fUet bt S oY foed gepTs H HTIT ST 87
(A) UPTT TF (B) Hiex
(C) fopratriex (D) AR
In which unit is the distance of celestial bodies measured?
(A) Light year (B) Meter
(C) Kilometer (D) Centimeter
33. fo5=F Erur Y 3ruer Adf efur & BT 872
(A) T EreoT (B) A= T
(C) ST (D) ST § H P T8I
In which unit is the distance of celestial bodies measured?
(A) Light year (B) Meter
(C) Kilometer (D) Centimeter
34. TR (81/STeT) H T DR dret! e D1 Iford PR S TINUT del _ fopar ST epell
gl
NEIEED (B) &4
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(C) THH (D) T4 A DIs &I
The friction force can be by giving proper shape to the object moving in the
liquid (air/water).

(A) More (B) Less
(C) End (D) None of these
35. o< AT T g UR TRl TNUT ¥ &l AT 87
(A) TP (B) FMHR
(C) AlBIBR (D) FTBR
Liquid friction is less on the object of which shape?
(A) Rectangular (B) Square
(C) Boat shaped (D) Circular
36. i qUf 0 & T ¥eT 5y et Srer 87
(A) X3 (B) RIS
(C) it (D) diforgeex
Which is called the first fully synthetic fibre?
(A) Silk (B) Nylon
(C) Rayon (D) Polyester
37. o o @ Ry eI B T ey aifeies B 2
(A) PuH (B) 1
(C) AIA (D) e
Which of the following threads has the highest strength?
(A) Cotton (B) Wool
(C) Nylon (D) Silk
38. THEHE HHATRAT & HUST IR {hAehT IR TGl 8l 82
(A) HeTrTST (B) sdheirse
(C) dfetiferT (D) Ufelt gt TeiRgS
What is the coating on the clothes of fire brigade personnel?
(A) Melamine (B) Bakelite
(C) Polythene (D) Poly vinyl chloride
39. €Ay Y YT [ HRB R R el 82
(A) 3I1I™H (B) dR<a
(C) TS (D) $F & BIE el
On which factor does the loudness of sound depend?
(A) Amplitude (B) Pitch
(C) Loudness (D) None of the above

40. €afy &Y Ugetar Te & folt &5 eafy & uH -
(A) T JTgRT T 81l (B) T IR FIgT B1IY
(C) BT IR IGHT BRI (D) BT 3T TSHT BN
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To decrease the loudness of sound, we have to -
(A) Decrease the frequency of sound vibrations
(B) Increase the frequency of sound vibrations
(C) Increase the amplitude of sound vibrations
(D) Decrease the amplitude of sound vibrations
41. WTHT €afy &b HUfl Dl AGRT BT &-
(A) 20 Hz 31k 20,000 Hz & & (B) 20 Hz & =}
(C) 20,000 Hz & SR (D) 500 Hz 3iR 10,000 Hz & &7
The frequency of ultrasonic sound vibrations is-
(A) Between 20 Hz and 20,000 Hz (B) Below 20 Hz

(C) Above 20,000 Hz (D) Between 500 Hz and 10,000 Hz
42. Rerex T W vt < arelT 9ed AT RY HHT S & 2
(A)3 TiterdT aretT (B) 4 T aretr
(C)5 dierar aret (D) 7 T 39X 31feres T aretr
On Richter scale, earthquake of which intensity is considered destructive?
(A) 3 intensity (B) 4 intensity
(C) 5 intensity (D) 7 or more intensity
43. IRIHSAIY faege et Tt <t of:
(A) & 7 (B) ST Shepfer o
(C) e A (D) faferr fiesE =
Atmospheric electricity was discovered by:
(A) Thales (B) Benjamin Franklin
(C) Newton (D) William Gilbert

44, BT A TIEI TS WHIEE I Be:
(A) ST ST TS EIFTST bl G-I ©F P JATHIN HRel &
(B) ST & AT R a1eil U 37k WiHTse IS W PIs 91T a1 gedT 8l
(C) XM & TSI €S BT D1 B Pl JATD DRcll
(D) I 3 TSI TS BT Y B DI Ui d Bl 2l
An ebonite rod rubbed with wool:
(A) attracts another rod of ebonite rubbed with wool.
(B) has no effect on another ebonite rod rubbed with wool.
(C) Attracts a glass rod rubbed with silk.
(D) Repels a glass rod rubbed with silk.
45. argHS o o1 AT T gfg A e obY o 81 RET € 2
(A) TR STSINFATSS (B) SIS
(OIS SECICRIEERCREDE EESES]

The increase of which gases in the atmosphere is causing the problem of global

warming?
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(A) Sulphur dioxide (B) Nitrogen

(C) Carbon dioxide and methane (D) Hydrogen
46. gl WR UTS ST alell faenel feifies wich T e &:
(A) 6 (B) 7
(C)8 (D) 10
The number of large tectonic plates found on the earth is:
(A) 6 (B) 7
(C)8 (D) 10
47. TSTES H o U] T &RUT 8 W& 8, ST I HRUT & -
(A) 3T%eT ayT (B) ferarama=
(C) CNG (D) LPG
The stones of Taj Mahal are eroding, the main reason for this is -
(A) Acid rain (B) Global warming
(C)CNG (D) LPG
48. i ggye & 2
(A) DPTFSIZIITTASS (B) HeHR T3 3larTSS
(C) TSI & 3ffaITsS (D) TSHR TG HAISEIN & A
Secondary pollutants are?
(A) Carbon dioxide (B) Sulphur dioxide
(C) Oxides of nitrogen (D) Acids of sulphur and nitrogen

49. TV USTIIT T T 81 3TR TR 81 b 9T PR 82
(i) 3Tarat T faATe (i) US ST (iii) 9 T ARer (iv) feR
(A) (i) 3T (i) (C) (i) 3R (iv)
(B) (i) 3T i (D) (i) 3R (iv)
What are the reasons for the extinction and disappearance of some species?
(i) Destruction of habitats. (ii) Planting of trees. (iii) Conservation of forests. (iv) Hunting

(A) (i) and (ii) (C) (iii) and (iv)
(B) (ii) and (i) (D) (i) and (iv)
50. USIeTIH T b1 AT IcuTe Hgeh R0 & SUAN H T STl & 2
(A) DI (B)
(C) fagf (D) USret

Which product of petroleum is used for road construction?
(A) Coke (B) Gas

(C) Bitumen (D) Petrol
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